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FHRARTEEHEGTESE [ &5t 1 )
p:l =t NO.03
ZAT %
Manning ® 2 X
B 5RE V=1/nXxR¥*x1'"? (m/sec)
B KE Q=S XV (m3/sec)
S:MAKETEIE = 12620 (m2) n: M ERHK = 0.026
P: M 43 = 10550 (m) 1/ n = 38.462
R:S/P(#&ZF) = 119 (m) 1:: R 4 & = 1/ 1000.0
R%3 = 1127 12 = 0.032
1R V= 1/n x R¥® x [
= 38.462 X 1.127 X 0.032 = 1.387 (m/sec)
BKE Q= S X V
= 12620 x 1.387 = 17.504 (m3/sec)
W m B K
9150
0.50 6.15 0. 60
4
o / < P
<.°| / “ ‘.-'
Qo S A A — —a
o —
S 0.10 $1=12. 62m2 : 3
! V
6.35
S=12620 m2

P = 0.40+0.10+1.60+6.35+1.60+0.10+0.40=10.55m




RRRTREEHEGESE [ ®Esm 2 )
p:N=1 NO.04
B4
Manning ® 2 X
IR V=1/nXxR¥*x1'"? (m/sec)
B K= Q=S xV (m3/sec)
S:JKkKMrEmBE = 1500 (m2) n:HE &K = 0015
P:&d 3 = 3500 (m) 1/ n = 66.667
R:S/P(®&ZFE) = 0429 (m) 1:: R &) B2 = 1/ 2433
R?® = 0569 12 =  0.064
1R V= 1/n x R¥® x [
= 66667 X 0569 x 0064 = 2428 (m/sec)
BKE Q= S x V
= 1500 x 2428 = 3.642 (m3/sec)
W m E K
1.50
,,,,,,, &H,,w,-,l:,,/
(e [a]
(e (]

S = 1.50%1.00=1.500m2

P = 1.00+1.50+1.00=3.500m




HRRTRRNTAESE [ &t 11 ]
pip=t NO.01
T
Manning ® 2 X
R E V=1/nxR¥*x1"? (m/sec)
B KE Q=S xV (m3/sec)
S:MmAKETEHE 21.110 (m2) n:ERH = 0.027
P:E 12 15.850 (m) 1/ n = 37.037
R:S/P(®&ZFE) 1.332 (m) I: 38 K 4 B2 = 1/ 1000.0
R%3 1.211 172 = 0.032
FETRE v 1/n x R x 2
37037 x 1211 x 0032 = 1435 (m/sec)
BKE Q S x Vv
21110 x 1435 = 30.293 (m3/sec)
W m B KR
0. 60 11.45 0.60
gl 3
2 s | 11.45 — o fo
§ ~ 040 11. 65 iﬁp_ 2
| |
11.85

S = 11.85%1.20+11.65%0.10+11.45%0.5=21.110m2

P = 0.50+0.20+1.30+11.85+1.20+0.20+0.60=15.850m




HRRTRENTESE [ ®Etm 12 ]
pip=t NO.02
15T
Manning ® 2 X
IR & V=1/nxR¥*x1"? (m/sec)
B KE Q=8 %V (m3/sec)
S:MAKEBEFE = 15680 (m2) n:ERH = 0.029
P:iE & = 13810 (m) 1/ n = 34483
R:S/P(#&Z®E) = 1135 (m) I: 38 K 4 B2 = 1/ 500.0
R2/ = 1.088 172 = 0045
FETRE V= 1/n x R¥® x [
= 34483 x 1088 X 0045 = 1.688 (m/sec)
BKE Q= S x V
= 15680 x 1688 = 26.468 (m3/sec)
W m B KR
i
11.35 ,,0.20
|2
= o
=
10. 85 '

S = (10.85+11.35+0.2)/2%1.4=15.680m2

P = 1.56+10.85+1.40=13.810m
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RRRTREEHEGESE [ ®&tm 3 )
B F=1 NO.03
B4
Manning ® 2 X
IR V=1/nXxR¥*x1'"? (m/sec)
&K= Q=S xV (m3/sec)

S:mKkErmi#E = 5465 (m2) n: fHERK = 0.031

P:E 3 = 7672 (m) 1/ n = 32.258

R:S/P(#&%) = 0712 (m) 1:° K & B = 1/ 769.2

R%3 = 0797 1'/2 = 0.036

1R V= 1/n x R¥® x [
= 32258 X 0797 X 0.036 = 0.926 (m/sec)
BKE Q= S X vV
= 5465 X 0926 = 5061 (m3/sec)
W m E K
5.15
%s, S=1. 848m2 o

J— 0. 60 3.00 .50 S
3 HW. L —
8 ro
<t

~
N
—

1.25
1.25

$=3. 617m2

L

| 2.72 |

(FULNTKBERS DRKTEES SCHLOERICH > TEIRRR DY A XEFEALTVET )

S= 3467+ 3.000 X 005 + 1848 =5465 m2

P = 5.142+0.05 X 2+0.60+0.61+0.50+0.72=7.672 m




RRRTREEHEGESE [ ®Esm 4 )
p:N=1 NO.04
54
Manning ® 2 X
IR V=1/nXxR¥*x1'"? (m/sec)
B K= Q=S xV (m3/sec)
S:KMrEBE = 4515 (m2) n:HE &K = 0.030
P:@ 2 = 7460 (m) 1/ n = 33.333
R:S/P(®&&FE) = 0605 (m 1:° K & B = 1/ 909.1
R%3 = 0.715 1'/2 = 0033
1R V= 1/n x R¥® x [
= 33333 x 0715 x 0033 = 0786 (m/sec)
BK=E Q= S X vV
= 4515 x 0786 = 3549 (m3/sec)
W m E K
QO
7 g $=3. 043m2 9.
. (%
o
= HoW L
? =
S 2. 50 -
= s=1.472m2 S
234 '

S =1.472+3.043=4.515m2

P = 2.34+0.61+1.90+0.61+2.00=7.460m




FHRARTEEHEGTESE [ ®&tm 5 ]
B F=1 NO.05
B4
Manning ® 2 X
IR V=1/nxR¥*x1'? (m/sec)
&K= Q=S xV (m3/sec)
Sk EBE = 2567 (m2) n: fHERK = 0.030
P:iE i = 5660 (m) 1/ n = 33.333
R:S/P(#&%) = 0454 (m) 1:° K & B = 1/ 1428.6
R2/ = 0591 1'2 =  0.026
1R V= 1/n x R¥® x [
= 33333 x 0591 x 0026 = 0512 (m/sec)
BKE Q= S X V
= 2567 X 0512 = 1.314 (m3/sec)
W m E K
- {9 S$=1.395m2 @/y\
4 N =1l
(=) H =
O J 2 - - m
- | 2.00—= o
‘ o
Lo
v i ——
3 | 5=1.172m2°
S | - i
[

1. 84

S =1.172+1.395=2.567m2

P = 1.84+0.61+1.20+0.61+1.40=5.660m
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